## Unique Auctions Catalogue 21 Jun 2017

- 451 A Nachtmann decanter and 5 Nachtmann champagne flutes £10.00 - £20.00
- 452 Approximately 40 Lledo die-cast models £10.00 £20.00
- 453 An Arcam CD player £10.00 £20.00
- 454 A Leather fishing rod and 3 old fishing reels including Decantelle £15.00 £25.00
- 455 A collection of assorted mixed postcards £10.00 £20.00
- 456 A military shell box £10.00 £20.00
- 457 A collection of collectors plates including Norman Rockwell (most boxed) £10.00 - £20.00
- 458 A collection of glasses and glass sets £10.00 £20.00
- 459 2 shelves of Rupert the Bear books and VHS videos £10.00 £20.00
- 460 A brass fire iron set and a pair of candlesticks £10.00 - £20.00
- 461 A large Oriental vase and pair of overlaid Oriental vases £10.00 £20.00
- 462 Approximately 40 Lledo die-cast models £10.00 £20.00
- 463 5 fixed spool fishing reels including Mitchell and Diamond £10.00 £20.00
- 464 A Swarovski swan figure, 2 animal glass plaques and 3 other items £10.00 £20.00
- 465 A general Janome sewing machine £10.00 £20.00
- 466 A collection of books £10.00 £20.00
- 467 A quantity of tankards, hip flasks and lighters £10.00 £20.00
- 468 2 shelves of Rupert the Bear memorabilia including games, puzzles, puppet, clock etc. £10.00 £20.00
- 469 8 items of china including Masons, Limoges and Wedgwood £10.00 £20.00
- 470 Approximately 40 Lledo die-cast models £10.00 £20.00
- 471 A quantity of motorsport memorabilia including clothing, rally plaque, David Coulthard signature etc £10.00 - £20.00
- 472 2 pottery swans, a Lurpack toast rack and butter dish £10.00 £20.00
- 473 A boxed 20 piece china dinner set £10.00 £20.00
- 474 A quantity of blue and white meat platters and plates £10.00 £20.00
- 475 A quantity of animal and bird figurines £10.00 £20.00
- 476 A Colclough tea set and set of French cups and saucers £10.00 £20.00
- 477 3 Thomas the Tank Engine ERTL cases and Thomas the Tank Engine toys £10.00 - £20.00

- 478 A mixed lot of glassware including paperweights, vases etc £10.00 £20.00
- 479 Approximately 40 Lledo die-cast models £10.00 £20.00
- 480 A quantity of silk flowers and basket weave items £10.00 - £20.00
- 481 A large quantity of CDs etc £10.00 £20.00
- 482 A quantity of wooden boxes including trinket, jewellery etc £10.00 £20.00
- 483 An assortment of glassware including vases £10.00 - £20.00
- 484 A quantity of folios containing watercolours, an art set, art paper books etc £10.00 - £20.00
- 485 A glass case with wooden Chinese model landscape £20.00 £30.00
- 486 A glass port decanter set with sippers and a Deinhard Lila wine bucket £10.00 - £20.00
- 487 Approximately 40 Lledo die-cast models £10.00 £20.00
- 488 A mixed lot including vintage gloves, napkin rings, chemist bottles etc £10.00 £20.00
- 489 A quantity of cameras and accessories £10.00 -£20.00
- 490 A quantity of balloon glasses with cat and mice figures and other glassware £10.00 £20.00
- 491 A mixed lot of DVDs, CDs and cassette tapes £10.00 - £20.00
- 492 A collection of nearly 40 Ladybird books including Well Loved Tales (various conditions) and other childrens books £10.00 - £20.00
- 493 A Watney's Bar Red Barrel and Player's tobacco tin £10.00 - £20.00
- 494 A pair of wall light fittings with droppers £10.00 £20.00
- 495 Approximately 40 Lledo die-cast models £10.00 -£20.00
- 496 A mixed lot of Wedgwood and Peter Bates cameo discs £10.00 - £20.00
- 497 2 boxes of assorted LP records and cassette tapes £10.00 £20.00
- 498 8 miniature Lilliput Lane cottages and one other house clock £10.00 - £20.00
- 499 A pair of hand decorated white glass vases £20.00 - £30.00
- 500 A quantity of Hornsea Bronte tea and dinner ware £10.00 £20.00
- 501 10 Ty Beanie Bears including American £10.00 £20.00
- 502 A collection of Doctor Who paperback books and William Price Adventure Stories £10.00 - £20.00
- 503 An electric paper shredder £10.00 £20.00

- 504 A Regent Boosey & Hawkes cornet £10.00 -£20.00
- 505 A mixed lot of croquet and french boules items  $\pounds 10.00 \pounds 20.00$
- 506 2 shelves of Rupert the Bear memorabilia soft toys, tins etc £10.00 £20.00
- 507 A good collection of Observer books including wavy line editions titles include Common Fungi, Ships etc (29 volumes) £20.00 - £30.00
- 508 Approximately 40 Lledo die-cast models £10.00 £20.00
- 509 A quantity of hardback and paperback books including autobiographies, Frederick Forsyth and Jack Higgins novels £10.00 - £20.00
- 510 A quantity of weight lifting items £10.00 £20.00
- 511 4 leather suitcases £10.00 £20.00
- 512 A cased Jones sewing machine £10.00 £20.00
- 513 An old painted kitchen chair £10.00 £20.00
- 514 A small display cabinet & small table £15.00 £25.00
- 515 3 retro suitcases £10.00 £20.00
- 516 A cased sewing machine £10.00 £20.00
- 517 A good set of golf clubs in bag & 2 umbrellas £20.00 £30.00
- 518 A pair of cast iron bench ends £10.00 £20.00
- 519 A mid-20th century mahogany under the counter set of 20 drawers with side panels £10.00 - £20.00
- 520 A tackle box/seat and contents including floats, hooks weights and an umbrella , bank sticks, landing nets etc £10.00 - £20.00
- 521 A bevel edged mirror in gilt frame £10.00 £20.00
- 522 A blue & white jug & basin set & matching slop bucket £50.00 - £60.00
- 523 A 2 drawer filing cabinet £10.00 £20.00
- 524 A TV cabinet £10.00 £20.00
- 525 3 sets of golf clubs including Penn etc. (some new) £10.00 £20.00
- 526 2 disability walking aids £10.00 £20.00
- 527 A Hotpoint Iced diamond fridge freezer £10.00 £20.00
- 528 A vintage 3 drawer chest of drawers £10.00 £20.00
- 529 A good old armchair (1 arm A/F) £10.00 £20.00
- 530 A lloyd loom style linen bin with glass top insert  $\pounds 10.00 \pounds 20.00$
- 531 A vintage 2 drawer chest of drawers £10.00 £20.00
- 532 An American Tourister suitcase £10.00 £20.00
- 533 2 light shades & a wall light £10.00 £20.00
- 534 A vintage bedroom chair £10.00 £20.00
- 535 A Panasonic microwave £10.00 £20.00

- 536 A large quantity of frames with prints, music memorabelia etc £10.00 £20.00
- 537 A vintage Eltex heater & heavy pot etc. £10.00 £20.00
- 538 4 rolls of fabric material £10.00 £20.00
- 539 A telephone/hall table £10.00 £20.00
- 540 2 military style shoulder bags £10.00 £20.00
- 541 A table top snooker/pool table no balls or cues £10.00 £20.00
- 542 A Sony micro Hi-Fi system with 2 speakers & a Denon record deck £10.00 - £20.00
- 543 A quantity of toys £10.00 £20.00
- 544 A computer desk £10.00 £20.00
- 545 A table lamp with glass £20.00 £30.00
- 546 A quantity of prints etc £10.00 £20.00
- 547 An old trouser press £10.00 £20.00
- 548 A quantity of dolls house furniture & accessories A/F  $\pounds$ 10.00  $\pounds$ 20.00
- 549 A tool box & contents £10.00 £20.00
- 550 A quantity of commemorative plates including Queen mother £10.00 - £20.00
- 551 3 table lamps £10.00 £20.00
- 552 A modern coffee table £10.00 £20.00
- 553 A quantity of miscellaneous china including Russian porcelain decanter etc. £10.00 - £20.00
- 554 A collection of approximately 50 comics including Daredevil comics 29,30 Black Panther etc. £10.00 - £20.00
- 555 2 Boxes of lights £10.00 £20.00
- 556 An Ion profile LP USB turntable & a Bush radio system with record deck £10.00 - £20.00
- 557 2 bicycle helmets 1 being Dennis the Menace & a bicycle box £10.00 £20.00
- 558 6 1960's LP records of Eddie Cochran, The Venturers, Rick Nelson & Johnny & the Hurricans £10.00 - £20.00
- 559 A hostess trolley £20.00 £30.00
- 560 A blue painted bookcase £10.00 £20.00
- 561 A quantity of books including some Dvd's £10.00 £20.00
- 562 An Excel lightweight wheelchair £10.00 £20.00
- 563 A Blooma ultar gas barbecue £10.00 £20.00
- 564 A Zanussi washing machine £10.00 £20.00
- 565 A New World electric cooker £10.00 £20.00
- 566 A red swivel office chair £10.00 £20.00
- 567 A large mahogany dining table A/F £20.00 £30.00
- 568 A Whirlpool fridge freezer £10.00 £20.00
- 569 A quantity of sports equipment including squash rackets, cricket bat & snooker cue etc. £10.00 £20.00

- 570 A quantity of boxed model cars including Burago £10.00 £20.00
- 571 A Singer Stylist sewing machine £10.00 £20.00
- 572 A quantity of miscellaneous pottery including Sylvac etc. A/F £10.00 - £20.00
- 573 A quantity of miscellaneous glass etc. £10.00 £20.00
- 574 A quantity of silver plate items including pewter items £10.00 £20.00
- 575 A collection of tank models (unboxed but complete) £10.00 £20.00
- 576 2 table lamps & an oval mirror £10.00 £20.00
- 577 A quantity of soft toys £10.00 £20.00
- 578 A quantity of 19th & 20th century glass bottles including COD & Poison £10.00 £20.00
- 579 A box of old comics including 1968 172 Goal, 1970's Beano, Dandy & Tiger etc. £20.00 - £30.00
- 580 A framed painting on glass £10.00 £20.00
- 581 A quantity of CD's including Ed sheeran & a quantity of Dvd's including Doctor Who etc. £10.00
   £20.00
- 582 A retro drinks cabinet £10.00 £20.00
- 583 An oil on canvas rural landscape, signed R. Valantino £10.00 - £20.00
- 584 2 Chinese silk pictures of Tiger & birds £10.00 -£20.00
- 585 An ottoman £10.00 £20.00
- 586 A priory style oak dresser £10.00 £20.00
- 587 A mixed lot of glassware including Webb Corbett £10.00 £20.00
- 588 A quantity of onyx ware including table lamp, trinket box & ashtrays etc. £10.00 - £20.00
- 589 A pair of oil landscapes with river, initialled J.M. £10.00 - £20.00
- 590 Past times bagatelle board £10.00 £20.00
- 591 A narrow bureau £10.00 £20.00
- 592 A framed & glazed print of tigers in river, after Willem S De Beer £10.00 - £20.00
- 593 2 German jugs £10.00 £20.00
- 594 A bookcase with glass sliding doors £10.00 £20.00
- 595 A framed & glazed series of circus animal drawings £10.00 £20.00
- 596 A barometer £10.00 £20.00
- 597 An interesting folder of world cup related records £10.00 £20.00
- 598 6 Elvis belt buckles £10.00 £20.00
- 599 2 shelves of war & military books £10.00 £20.00
- 600 2 boxes of glass droppers £10.00 £20.00
- 601 A pottery table lamp £10.00 £20.00
- 602 A 15 piece floral china tea set £10.00 £20.00

- 603 A quantity of 45rpm records £10.00 £20.00
- 604 A leaded glass wall light on wrought iron bracket £10.00 £20.00
- 605 2 boxes of buttons & lace trim etc. £10.00 £20.00
- 606 2 bags of costume jewellery including bangles & necklaces etc. £10.00 £20.00
- 607 An oil on canvas harbour scene £10.00 £20.00
- 608 3 Formula 1 model cars by Tamiya & Revell and a Fujimi model of Votex Golf £10.00 - £20.00
- 609 A quantity of Record Collector magazines (30 40) £10.00 - £20.00
- 610 A framed & glazed modern art piece £10.00 £20.00
- 611 An oil on canvas still life of roses in vase, signed Susan Page £10.00 - £20.00
- 612 A brass table lamp & 3 other brass items £10.00 £20.00
- 613 A quantity of vintage Top Trumps cards £10.00 £20.00
- 614 2 shelves of assorted oil lamp fittings £10.00 £20.00
- 615 4 boxed large Burago, Ferari, Porsche & Lambourgini models £10.00 £20.00
- 616 A mixed lot including jewellery boxes, costume jewellery & purses etc. £10.00 £20.00
- 617 2 shelves of assorted cassette tapes £10.00 £20.00
- 618 A 2006 Fifa world cup monopoly & a limited edition football puzzle (both new & sealed) £10.00 -£20.00
- 619 A set of Typhoon kitchen scales & a pottery bread bin £10.00 - £20.00
- 620 2 stoneware jars, a table top butter chuurn & butter pads etc. £10.00 £20.00
- 621 An assortment of vintage tins £10.00 £20.00
- 622 A box of photo frames £10.00 £20.00
- 623 A pair of blue & white Chinese vases £10.00 £20.00
- 624 6 Elvis LP records £10.00 £20.00
- 625 A large white flass flycatcher lampshade £10.00 £20.00
- 626 A floris ware vase & a pair of Victorian floral decorated vases £10.00 £20.00
- 627 A quantity of empty jewellery boxes £10.00 £20.00
- 628 An army cash tin £20.00 £30.00
- 629 A quantity of 2000AD comics £10.00 £20.00
- 630 A pair of blue & white lamps £10.00 £20.00
- 631 Mr Christmas 6 bell symphonium £10.00 £20.00
- 632 3 vintage framed 3D paintings on glass £10.00 £20.00
- 633 A quantity of Dvd's & computer games £10.00 -

£20.00

- 634 2 boxes of plastic soldiers & farm animals by Britand etc. £10.00 - £20.00
- 635 26 unboxed model aeroplane kits including Heller £10.00 - £20.00
- 636 A quantity of silver plate etc. (2 shelves) £10.00 -£20.00
- 637 6 items of pottery including Portmadoe & Chris Aston etc. £10.00 - £20.00
- 638 A handbag with crocodile hide & a Vector Express cast sign etc. £10.00 £20.00
- 639 A box of linen £10.00 £20.00
- 640 A mixed lot of art glass £10.00 £20.00
- 641 A collection of toys & action figures including Marvel £10.00 - £20.00
- 642 A collection of Formula 1 & other books on racing £10.00 £20.00
- 643 A mixed lot of wooden items including bread board & shoe trees etc. £10.00 £20.00
- 644 2 boxes of vintage sheet music £10.00 £20.00
- 645 2 pottery vases £10.00 £20.00
- 646 A quantity of Denby Daybreak tea & dinnerware £10.00 £20.00
- 647 A box of playworn toy cars including Matchbox, Corgi & Tonka etc. £10.00 - £20.00
- 648 A good collection of maps including OS from various periods £10.00 £20.00
- 649 A mixed lot of jugs etc. including Davenport & Brentleighware (7 items in total) £10.00 - £20.00
- 650 A shelf of glassware inluding claret jug & vases etc. £10.00 £20.00
- 651 A quantity of collectable motor & racing cars £10.00 - £20.00
- 652 33 pieces of teaware (1 shelf) £10.00 £20.00
- 653 A Hornby '00' gauge rolling stock & engines £10.00 £20.00
- 654 A brass boat gimbal lamp on a copper coaching warmer £10.00 £20.00
- 655 A boxed & unopened world cup France 98 champagne````5929 £10.00 - £20.00
- 656 A quantity of coronation china including George V & Elizabeth II £10.00 - £20.00
- 657 6 framed prints including Royal Albert Hall & Heslington Hall £10.00 - £20.00
- 658 A collection of Sheffield Wednesday memorabelia including books, scrapbook, bag & signed pendant 1979/1980 etc. £10.00 - £20.00
- 659 2 cases of assorted LP records £10.00 £20.00
- 660 A mixed lot of china including Aynsley , Royal Albert & Crown Derby £10.00 - £20.00
- 661 A boxed Sherlock cluedo boards game & Doctor Who monopoly board game £10.00 - £20.00

- 662 An Edwardian barometer, spelter figures & chess clock etc. £10.00 - £20.00
- 663 A box of assorted 45rpm records £10.00 £20.00
- 664 A box of playworn die-cast toys including Matchbox etc. £10.00 - £20.00
- 665 A box of dolls accessories etc. £10.00 £20.00
- 666 A Goebel spaniel & 2 family cares dog figurines £10.00 - £20.00
- 667 A large yellow & white banded chance glass vase £10.00 £20.00
- 668 A quantity of Action Man toys including dolls car & accessories (2 shelves) £10.00 - £20.00
- 669 A quantity of Royal Worcester tableware £10.00 £20.00
- 670 2 boxes of Novo air kits including Fairy Gamneg, Hawker Seahawk & firefly etc. £10.00 - £20.00
- 671 A good collection of football books, mainly world cup, Pele etc. £10.00 £20.00
- 672 2 chairs A/F £10.00 £20.00
- 673 16 boxed Heritage Formula one 1.43 scale model car (1 A/F) £10.00 - £20.00
- 674 2 albums of benham First day covers on second world war & an album of Royal mail first day covers including coin issues £10.00 £20.00
- 675 2 brass tea caddies & decorated Chubb tin £10.00 - £20.00
- 676 A modern table lamp £10.00 £20.00
- 677 A pair of Royal Crown Derby Olde Avesbury plates £20.00 - £30.00
- A collection of Die-cast cars & buses, many football related including Corgi, Espana 82, Barcelona coach & Celtic coach etc. £10.00 £20.00
- 679 2 wine tables £10.00 £20.00
- 680 A rope bannister rail with brass fittings £10.00 £20.00
- 681 A collection of music memorabelia including Dolly Parton, Rolling Stones, Neil Diamond, The Monkees, Meat Loaf, Country & Western etc. £20.00 - £30.00
- 682 A mixed lot including jewellery boxes, clocks & trinket boxes etc. £10.00 £20.00
- 683 A telephone side table £10.00 £20.00
- 684 A quantity of Die-cast aeroplanes & tanks £10.00 £20.00
- 685 An Oriental plate £10.00 £20.00
- 686 A quantity of Classic car magazines £10.00 £20.00
- 687 A canteen of cutlery box & contents £10.00 -£20.00
- 688 2 boxes of assorted books including Ngaio Marsh, fiction & wildlife etc. £10.00 £20.00
- 689 A pair of 3 branch brass ceiling lights £10.00 -

£20.00

- 690 A collection of football related folders of ephemera, 718 cards & badges etc. £10.00 £20.00
- 691 2 boxes & a case of LP records including 1980's/90's etc. £10.00 - £20.00
- 692 A quantity of Chiltern Ridgway White Mist tea & dinnerware £10.00 £20.00
- 693 A nice collection of World Cup memorabelia inlcuding Espana 82, Euro 96', Japan & France etc. £10.00 - £20.00
- 694 4 Elvis Presley HMV 78 records & 2 Bill Haley & his Comets, Brunswick 78's £10.00 - £20.00
- 695 A mixed lot including watch straps, coins, costume jewellery & lighters £10.00 - £20.00
- 696 A quantity of medical instruments £10.00 £20.00
- 697 A quantity of Royal Mail PHQ stamps & first day covers £10.00 £20.00
- 698 A quantity of signed letters & an autograph book £10.00 £20.00
- 699 four £5 coins & others including poppy, Supersonic Concorde etc. £10.00 - £20.00
- 700 A Victorian glass jug £10.00 £20.00
- 701 18 watches including 12 in working order £10.00 £20.00
- 702 A 1960's Batman & Robin Batmobile dish £10.00 £20.00
- 703 A vintage William Rodgers Sheffield bone handled bowie knife £10.00 - £20.00
- 704 A quantity of old corkscrews including bone handled example £10.00 - £20.00
- 705 An air raid wardens siren rattle £10.00 £20.00
- An album of World stamps including British,
  Commonwealth, European & China etc. £10.00 £20.00
- 707 An album of year 2000 Jersey Channel Islands presentation stamp sets £10.00 £20.00
- 708 A wristwatch with sun records dial in case £10.00 £20.00
- 709 An it's time Elvis Werthmeyer collection watch in guitar shaped case £10.00 £20.00
- 710 An Elvis 'TCB' taking care of business pendant, Elvis Zippo lighter & Elvis watch £10.00 - £20.00
- 711 A gilt and ceramic lidded urn £10.00 £20.00
- 712 A mixed lot of stamps including British World, commemorative etc. £10.00 £20.00
- 713 An album of World stamps & a quantity of postcards £10.00 £20.00
- 714 A box of foreign coins £10.00 £20.00
- 715 A mixed lot including cloth badges, coins, World War 2 Italy star etc. £10.00 - £20.00
- 716 A collection of Elvis 45rpms £40.00 £60.00
- 717 A framed display The Jefferson era coin set £10.00

- £20.00

- An album of postcards including Kings Lynn, London & some humourous etc. £20.00 - £30.00
- 719 17 Smurfs (in need of a clean) £10.00 £20.00
- 720 A quantity of stamps including proof sets & tea cards etc. £10.00 £20.00
- 721 A brass fire curb & mixed lot of fire irons £10.00 £20.00
- 722 A quantity of ornaments & collectables including Regency Fine Arts etc. (4 boxes) £10.00 - £20.00
- 723 2 flatbed computer scanners £10.00 £20.00
- A quantity of LP & 45rpm records including Alvin Startdust, Roy Orbison & Chuck Berry etc. £10.00
   £20.00
- 725 A Winsor & Newton artist's easel £30.00 £40.00
- A Scalextric McLaren Mercedes, Lewis Hamilton & Jensen Button racing set & Scalextric digital ignition set £30.00 £40.00
- 727 2 bar stools £10.00 £20.00
- 728 A quantity of boxed Formula 1 & rally cars including Onyx, Skid & Burago £10.00 - £20.00
- 729 A quantity of mostly 80's/90's DC comics & Battle Action Force magazines including Justice League, SGT Rock & Batman etc. £25.00 - £35.00
- 730 A pair of Staffordshire figures A/F £15.00 £25.00
- A Playstation 3 console in good working order, with accessories including Call of duty MW3 game £45.00 - £65.00
- 732 A collection of 13 chance glass handkerchief vases including orange & white £20.00 £30.00
- 733 A retro resin oil lamp £20.00 £30.00
- 734 A coffee table £10.00 £20.00
- 735 A collection of Elvis Presley memorabelia including car, key ring & books etc. £10.00 -£20.00
- 736 A quantity of Poole tea & dinnerware £10.00 £20.00
- 737 2 adjustable bar stools £10.00 £20.00
- 738 An art deco style pressed glass dressing table set £10.00 - £20.00
- 739 4 boxed Burago rally cars & a large Oxford Diecast Stobart lorry £10.00 - £20.00
- A collection of Disneyana including vintage Mickey Mouse radio in box (not working), badges & Disney chess set etc. £10.00 - £20.00
- 741 2 dining chairs £10.00 £20.00
- 742 A quantity of assorted books including military, railways, Star Wars & lego etc. £10.00 - £20.00
- 743 A porcelain figure of horse & plough £20.00 -£30.00
- 744 An early 20th century South American tribal blow pipe £30.00 £40.00

- 745 A coffee table £10.00 £20.00
- 746 A quantity of mostly 90's Marvel comics in good condition including Cable, Ghost Rider, Fantastic Four & Shadow Games etc. £25.00 £35.00
- 747 A pair of still life on boards & pair of landscape oils £10.00 £20.00
- 748 A barrel on stand with Glenmorangie stopper £10.00 - £20.00
- 749 A boxed Palitoy action man & boxed Pelham puppet £10.00 £20.00
- 750 A standard lamp £10.00 £20.00
- 751 A military signalling lamp £10.00 £20.00
- 752 A pair of dog figures £15.00 £25.00
- 753 6 brass door stops £30.00 £40.00
- 4 Corgi aviation archive model aeroplanes including RAF Lockhead 382 Hercules, Avro Vulcan XH558 (first & last in service) Douglas Dakota & DC3 & atlas editions 'Memphis Belle' £20.00 - £30.00
- An African tribal drum & framed & glazed limited edition 47/500 entitled 'Tanzanian' by Melor Yelton (?) £30.00 £40.00
- 756 Six 1.18 scale model cars including Hot Wheels Auto Art etc. £10.00 - £20.00
- 757 A child's rocking chair £10.00 £20.00
- A large collection of World Cup keyrings, Spain
  82, France 81 & Germany 2006 etc. Others
  include Real Madrid & Barcelona £10.00 £20.00
- 759 A Voigtlander camera Vasker 1:45/75 £10.00 £20.00
- 760 A retro record player & quantity of 78rpm records £50.00 - £60.00
- An assortment of wedding items including glasses, albums & momento's etc. & other items £10.00 £20.00
- A Hornby railways '00' gauge tain R1070 goods master with a quantity of rolling stock, buildings & track £20.00 - £30.00
- 763 Over 40 unboxed model aeroplane kits including Supermodel, Huma, Marviox & Tamiya etc. £10.00
   £20.00
- 764 An iron fire grate £10.00 £20.00
- 765 A painted bedside/side table with butterfly features £10.00 £20.00
- 766 Five 1.18 scale boxed model cars including Revell & Anson etc. £10.00 £20.00
- 767 A boxed Wallace Silversmith 12 piece setting canteen of cutlery £10.00 £20.00
- 768 A collection of old camera's, lenses etc. & a gentlemans bath set £10.00 £20.00
- 769 Over 90 pieces of Poole pottery dinner & tea ware £10.00 £20.00
- 770 A carver kitchen chair A/F £10.00 £20.00

- 771 A folder of playing cards, Top Trumps & a quantity of golf balls £10.00 £20.00
- 772 2 matching glass vases £10.00 £20.00
- 773 A quantity of horse brasses £10.00 £20.00
- 774 A quantity of Lincoln & Grantham history books including Phillimore Doomsday books & a print of Lincoln Christs hospital school & framed & glazed Lincolnshire map £10.00 - £20.00
- 3 boxes of books on warfare & military history including war poets, first & second World war etc. £10.00 £20.00
- 776 A glass TV stand £10.00 £20.00
- 777 29 volumes of Encyclopedia Britannica from eleventh & thirteenth editions £10.00 - £20.00
- 38 unboxed model aeroplane kits including Italeri& Matchbox etc. £10.00 £20.00
- 2 boxes of assorted books including British &
  American history, music, literacy & law etc £10.00
  £20.00
- 780 An inlaid bureau £10.00 £20.00
- 781 A TV cabinet £10.00 £20.00
- 782 The nature book volumes 1 6 1922 including plates etc. £10.00 £20.00
- 783 A quantity of 45rpm records £10.00 £20.00
- 784 A teak display unit £10.00 £20.00
- 785 An adjustable shelf bookcase £10.00 £20.00
- 786 A collection of antiquarian & collectable books (2 shelves) £10.00 £20.00
- 787 A quantity of 1960's/70's medical history quarterly journals £20.00 £30.00
- 788 A 1940's/50's oak wardrobe £10.00 £20.00
- 789 A display unit with cupboard £10.00 £20.00
- 790 An office chair £10.00 £20.00
- 791 A mahogany bidet stand £20.00 £30.00
- 792 A small carved oak sideboard £10.00 £20.00
- 793 A painted wardrobe with bevel edge mirror doors £10.00 £20.00
- A 2 drawer filing cabinet £10.00 £20.00
- 795 A 2 drawer bedside cabinet £10.00 £20.00
- 796 A wash stand with 2 drawers A/F £10.00 £20.00
- 797 A 2 door pine cupboard £40.00 £60.00
- 798 A small table £10.00 £20.00
- 799 A painted 2 drawer chest £10.00 £20.00
- 800 A bedside cabinet with 3 drawers £10.00 £20.00
- 801 2 shower stools £10.00 £20.00
- 802 A 2 door cupboard £10.00 £20.00
- 803 A 1970's retro casa pupo rug & throw £10.00 £20.00
- 804 A 1970's retro casa pupo rug & throw £10.00 £20.00

- 805 6 bird/ornithological prints including Easton, Thorburn, Ede & Vortigern etc. £10.00 - £20.00
- A mixed lot of ephemera including Elvis, Old
  Sheffield bowling badges including 1964 Paragon
  league, bank of trotters notes £10, £50 &
  autographs etc. £10.00 £20.00
- 807 A pine bookcase £10.00 £20.00
- 808 A quantity of books on classics, The Ancient World & religion £10.00 - £20.00
- 809 A bevel edge wall mirror £10.00 £20.00
- 810 2 nude prints by Spanish artist Philippe Boudan & 1 other nude £10.00 - £20.00
- 811 A quantity of fishing equipment including bamboo rods, reels & satchel etc £10.00 - £20.00
- A collection of World Cup Italia 90 memorabelia including Rochin Ciao & Burago cars etc. £10.00 -£20.00
- 813 A large collection of wooden frames (many new) £10.00 - £20.00
- A framed & glazed limited edition print of Damon Hill & Formula 1 Williams Renault car entitled 'out of the shadows' by Nicholas Watts signed & a military limited edition print by G. Cartwright, signed £10.00 - £20.00
- 815 A 1985 Unipart calendar photographed in Bali by Patrick Lichfield £10.00 - £20.00
- 816 A collection of football & World Cup ephemera & memorabelia £10.00 £20.00
- 817 A small size solid oak hall table £10.00 £20.00
- 818 7 Victorian teapots £30.00 £40.00
- 819 16 & 1 boxed minichamps Formula 1 model cars 1.43 & 1.18 scale £10.00 - £20.00
- 820 A quantity of Beatles memorabelia including Lenticular poster, mirror & collages & an Elvis Presley clock A/F £20.00 - £30.00
- A small framed & glazed tapestry £10.00 £20.00
- 822 A quantity of Subbuteo & darts items £10.00 -£20.00
- 823 A pair of oars £10.00 £20.00
- 824 3 boxes of books on gardening & painting £10.00 -£20.00
- 825 4 Karl Ens figures of birds & one of fish, with 2 Hummel figures £10.00 - £20.00
- 826 A child's nursery rhyme tea set £40.00 £60.00
- 827 3 Royal Doulton character jugs 'Henry VIII'
  'Catherine of Aragon' & 'Mad Hatter' £10.00 £20.00
- 828 10 classic Marvel figurines, hand painted with magazines including, Warlock, Banshee & Moon Knight etc. £20.00 - £30.00
- 829 2 Sylvac items Dog No: 2950, Henry VIII No: 4488 £20.00 £30.00
- 830 A collection of Robertson Gollies £10.00 £20.00

- A collection of model vehicles including Lledo, Corgi, Fina & Ruston Bucyrus £10.00 - £20.00
- 832 A large display unit £10.00 £20.00
- A Tempur electrical double bed (2 single units designed to be put together as a double) £10.00 £20.00
- 834 3 boxes of books including nature & history etc.£10.00 £20.00
- 835 A mixed lot of sports items including boxing magazines & prints, framed England football commemorative 1966 t-shirt etc £20.00 - £30.00
- 836 A regulator wall clock (no key or pendulum) £30.00 - £20.00
- 837 A table lamp £10.00 £20.00
- 838 A teak bureau £10.00 £20.00
- 839 3 fishing rods including a sea rod £25.00 £35.00
- 840 An oval bevel edge mirror £15.00 £25.00
- 841 A pair of painted French Tole ware hanging lamps £40.00 £60.00
- 842 A duck egg blue rug (approximate size 47" x 63") £20.00 - £30.00
- 843 A 1950's wall mirror £20.00 £30.00
- 844 A 7 branch ceiling light £10.00 £20.00
- 845 2 match rods & 1 other fishing rod £10.00 £20.00
- 846 A quantity of crested china including Goss, Grafton & Arcadian etc. £10.00 - £20.00
- 847 2 family bibles with photo's, postcards & telegrams etc. £10.00 £20.00
- 848 A quantity of Lincoln City football club match programmes, tickets & Dvd's £10.00 - £20.00
- A quantity of film posters including 'Enemy of the State', Sister act', 'Sweet & Lowdown' & music programmes including David Essex £10.00 £20.00
- 850 A tin case/toolbox with brass plaque 'Mr. W.H/ Pibworth R.N.' £10.00 - £20.00
- 851 3 framed&d glazed book illustrations £10.00 £20.00
- A collection of World Cup related lighters and 5
  Espana 82 brandy balls and other memorabilia
  £10.00 £20.00
- 853 A quantity of 1960s Punch magazines £10.00 £20.00
- A quantity of unframed watercolours and a used drawing book £10.00 £20.00
- 855 2 pairs of biker's leather trousers £10.00 £20.00
- 856 A mahogany bookcase £10.00 £20.00
- 857 A patio sunshade £10.00 £20.00
- 858 A framed and glazed 18th century indenture dated 1765 £10.00 - £20.00
- 859 A limited edition print 361 of 537 of 166th Anniversary of the Travelling Post Office (TPO)

signed Ian Cryer and print of Class 55 Deltic departing Kings Cross by Christopher D Bee £20.00 - £40.00

- 860 A vintage doll £10.00 £20.00
- 861 A bookcase with glazed doors £10.00 £20.00
- 862 A mixed lot of books including novels, autobiographies etc £10.00 - £20.00
- A quantity of vintage books including bound 1890
  Illustrated London News, Richmal Crompton Vol 1, The Forester by Nisbet etc and a globe £10.00 -£20.00
- 864 An oak Arts and Crafts desk £10.00 £20.00
- 865 A quantity of unboxed model cars £10.00 £20.00
- 866 A glass topped coffee table £10.00 £20.00
- 867 4 dining chairs £10.00 £20.00
- 868 A formica top table £10.00 £20.00
- 869 A scalextric C555 rally cross racing set £10.00 -£20.00
- 870 A quantity of unboxed die-cast including Dinky and Corgi etc £10.00 £20.00
- 871 A Hornby Railways '00' gauge train pack R2300 Bournemouth Belle and R1045 The Royal Train Set £80.00 - £100.00
- 872 A pie crust edge side table £10.00 £20.00
- 873 A collection of McDonalds Happy Meal posters including many Disney £10.00 - £20.00
- A pine single bed with mattress £10.00 £20.00
- 875 2 albums of cigarette cards and silks and 2 empty albums £10.00 £20.00
- 876 A pine gateleg table £10.00 £20.00
- 877 23 ordnance survey maps of Lincoln and surrounding area from 1950s and 1970s £10.00 -£20.00
- 878 A 2 seat sofa £10.00 £20.00
- 879 A 2 seat sofa £10.00 £20.00
- 880 A 3 seat sofa £10.00 £20.00
- 881 An armchair £10.00 £20.00
- 882 A pair of brass table lamps with shades £10.00 £20.00
- 883 A circular dining table and 4 chairs £10.00 £20.00
- A Corgi showcase collection of the Red Arrows
  40th Display Season Commemorative set £20.00 £40.00
- 885 A quantity of Wade and Beswick Disney pig etc £15.00 - £25.00
- 886 3 Bisque figures (1 A/F) £10.00 £20.00
- 887 3 Royal Doulton figures Wendy, Penny and Julie £10.00 - £20.00
- 888 A Bureau bookcase £10.00 £20.00
- 889 An oval gilt framed mirror £10.00 £20.00
- 890 A quantity of children's items including train set,

Disney and Star Wars deco-stickers, puzzles, books and videos £10.00 - £20.00

- A pine extending dining table £10.00 £20.00
- 892 A Tasco telescope (11TR D=4 1/2" F=900mm) £10.00 - £20.00
- 893 An oil on board harbour scene signed but indistinct £10.00 - £20.00
- 894 2 Watercolour river landscapes signed (Possibly Dudley Ware or Ward) and a print 'The Sale of The Pet Chicken' £50.00 - £60.00
- 895 6 men's vintage jackets including Royal Navy Sub-Lieutenant Schoolmaster, Double-breasted dinner jacket etc. £10.00 - £20.00
- 896 2 Fur coats and 4 vintage ladies evening dresses £10.00 - £20.00
- 897 A wood framed armchair £10.00 £20.00
- 898 An oval wood framed wall mirror £10.00 £20.00
- 899 A bureau bookcase £10.00 £20.00
- 900 A quantity of tools £10.00 £20.00
- 901 An oak extending dining table £10.00 £20.00
- 902 4 boxed Franz porcelain vases £10.00 £20.00
- 903 7 Corgi Aviation Archive World War 2 model aeroplanes including Boeing 299 Fortress, Battle of Britain memorial flight, Dam Busters Avro Lancaster, Control Tower kit, Corgi fighting machines etc. £20.00 - £30.00
- 904 A heavy Dutch oak table and 4 chairs £10.00 -£20.00
- 905 A boxed Hornby O Gauge Locomotive and Tender,
  3 trucks including gas cylinder wagon and a distant semophore signal £30.00 £40.00